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See Video for step-by-step  
solutions to each problem.
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B = 25° B = 145°

B = 52°

If A and B are equal, then they must each be 
half of the total.  Since they form a Right 
Angle, the total must be 90 degrees, so 
Angle A is half of 90. which is 45 degrees! 
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Exercises

Angles and Degrees
What is the size of this angle in degrees?

Find the unknown angle.

Find the unknown angle.

Find the unknown angle.

Find the unknown angle.

and	    are complementary angles. and	    are supplementary angles.∠A ∠A∠B ∠B
If	 is 65 degrees, how big is	  ? ∠A ∠B

If	 is 128 degrees, how big is	    ? ∠A ∠B  

If	 is 35 degrees, how big is	  ? ∠A ∠B

What is the size of this angle in degrees?
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If	 is the same size as	     , ∠A
how big is	   ?  ∠A

∠B  


